SuMPO EPD
4T NEBREEE (EPD)
Z5ES ¢ JR-Al-24600E

SuMPO

..E PD

AAAAA

VERIFIED

#Rn=4 PFU / PFU Limited

SUMPOZRIEINITOIS s
—RRAEFEAT AT T IR EHEEAE
RRMBTFREXAHEHT-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

RICOH
Scansnap

X =500

Made in Indonesia

( .

BEH
SHm1BsHrY

BENRERPE
WAL RS Ol B4
FAPREIE, £, OB, £ HISER, BRI

RAOEK, TELK-HT
AU : ScanSnap iX2500
WRHE: Y-FIIYFRFvF (Bfes @ &)

CIXAR-N-YFHIVE
FHURE : WHE-RE 45849 (90ME/%)
BAGEURFRYAX : 216mmx360mm
FLERARRE  600dpi
smAAR : CIS
KA GIEKERIT T,

FMWEhEx

HABHPFU A RX-IVITY-LRA&YR-b
Email :
Tel : 050-3786-0811

scanners@ml.ricoh.com

ERES JR-AI-24600E
HERAPCREFS  PA-590000-Al-08
PCR% ER A H 25 (55 8hk]
NE]=! 202556 H25H
REAEATEH 202544818

RIEA R 18 R BIREE A X
RIiEES JV-Al-24600

REFE#NEARM 2030538 31H
PCRLE1-DEIE
FEHSZE 2023F 98 1H
ZER Mg B2
(— R EE A Y AT IR HE M)
E=HRIE"
AEIREEE  HBR HBETF
ISO14025(fE > ARE § RUT -5 DI LIAREE
OREB WA
* 2T hRIEZ I B ENORTIDH AR, VAT ARTET-LBERD
2 EETH.

Z#i&ES ¢ JR-Al-24600E


mailto:scanners@ml.ricoh.com
mailto:scanners@ml.ricoh.com
mailto:scanners@ml.ricoh.com
mailto:scanners@ml.ricoh.com
mailto:scanners@ml.ricoh.com
mailto:scanners@ml.ricoh.com
mailto:scanners@ml.ricoh.com
mailto:scanners@ml.ricoh.com
mailto:scanners@ml.ricoh.com
mailto:scanners@ml.ricoh.com
mailto:scanners@ml.ricoh.com
mailto:scanners@ml.ricoh.com
mailto:scanners@ml.ricoh.com

SUMPO SuMPO EPD
o '..E PD s 7umsss (PD)

Z5&ES ¢ JR-Al-24600E

OF17Y1 7 )V R E Tl R

SUMPOIRIESANILTOIS L
— AL EEAY AT H IR E HERE S
RRMBTFREXAHEHT-14-8
KANDA SQUARE GATE
https://ecoleaf-label jp

0% 20% 40% 60% 80% 100%
SUEZE) IPCC 2013 GWP 100a 120 | kg-COzeq
74k 214 0.40 | kg-SO:eq
BRHE 0.061 | kg-Sbeq
s ORHHEE  wQfE = Qi 0%
EOFER-HIEEE nOBEE-UYIIL
AER I5H Hif At | ORMuEE Q%E QB |@Em-#isEE OB UFIL
SURZEEN kg-COzeq | 1.2E+02 3.0E+01 14E+00 5.8E+00 7.5E+01 6.2E+00
AV EHIE kg-CFC-11eq| 5.9E-06 4.3E-06 1.6E-09 7.2E-11 1.6E-06 3.9E-08
k2[4 kg-SO.eq | 4.0E-01 2.5E-02 9.7€-03 1.3E-02 3.5E-01 2.4E-03
BRHEE kg-Sbeq 6.1E-02 6.0E-02 3.2E-06 2.4E-05 1.4E-03 6.6E-06
@F1791 71 YRY R) 3 BE R €) v S (CE I 5185
IR B mE-9E (ERHY) Hif
FBEAEER 4.3E+00 kg 5w 3.6E-01 kg
BERREER 8.6E+00 kg SUS 2.5E-01 kg
PIVIZUL 2.1E-04 kg
ZOthERE 4.2E-02 kg
T32F9Y 2.0E+00 kg
d4 1.1E-02 kg
A3 1.3E-01 kg
EL A FREAMR 1.2E-01 kg
Z0fth 3.9E-01 kg




SuMPO EPD SUMPOIRIESANI TOJ 5 L

SEUME;)D _ — IR A Y AT TR R
0. .0 AAAAA 1T NEEEE (EPD) HEEHTRARXAMET-14-8
VERIFIE® KANDA SQUARE GATE
BF#kES © JR-AI-24600E https://ecoleaf-label jp

GOETEHERICEITZEMER
CBEEECAVSYFUACSWGRIRUVERES - Y-y RAFvT
-BFOEMITE  KE
EREREOEERE

— 1B AR : 8,000%/8 (10 AFv>/H)

- 1hBO&EEH% : 208/A

—1EOBHE B - 2400/F

—BEFERLM : 55

—#82F vV 1 12,000/ (9,600,0004%) /5%
(ERE A (EIRIFAK) OBMIEE ELTWERA,

®-1.ZDMOREEEFR
EBRIRNA-29-TOYILIEELTVET , FBIMROHSIEDICERL TVET,

DERLEZRT-9DEZH
IDEA ver3.1.0&EFL THY, SUMPORE OIS LB HT-IvI 14&EALTLET,

®fF%E

OT-FIHEEDA LI PCREKLUVEE - EERELSRBL LI,
OLLRIIOVNTE EE - EERBCHEEINEEERELEERICLAZESONEE A,
(BHBFURL : https://ecoleaf-label jp/regulation/)
FHES © JR-Al-24600E



